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[N 73 K £ ouT IN |TOTAL|HDCP| NET
&z B AR BE 40 38 78 10 68
=B b S 43 38 81 13 68
3 fi XKExEH 40 40 80 8 72
B-G K BE 40 | 38 78
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& f1 K £ ouT IN |TOTAL| HDCP | NET
& B HH E#A 42 37 79 8 71
#EB R A— 40 37 77 2 75
3 KE Zih 43 41 84 8 76
4 £ JKH2 B 42 46 88 12 76
5 I f&aH i 47 42 89 13 76
B-G Bk A— 40 37 77

[N 73 K % OUT | IN |[TOTAL|HDCP| NET
&z B B i 44 | 40 | 84 | 23 61
=B AKEZ 41 49 | 90 | 22 68
3 fI i 47 | 44 | 91 23 68
4 fi /X Xt 42 | 46 | 88 18 70
5 fiI -3 1 R H 53 | 41 94 | 23 71
B-G B i 44 | 40 | 84
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